Page: 1 of 4 11/20/2023 2:48:49 PM

Election Summary Report

General Election Whitfield November 07, 2023

Precincts Reported: 23 of 23 (100.00%)
Registered Voters: 5,922 of 60,420 (9.80%)

Ballots Cast: 5,922

Mayor - Dalton (Vote for 1)

Precincts Reported: 10 of 10 (100.00%)

		Total	
Times Cast		2,820 / 17,549	16.07%
Candidate	Party	Total	
Jason Burgin		65	
Tom Causby		819	
Annalee Harlan Sams		1,906	
Total Votes		2,790	
		Total	
Unresolved Write-In		4	

Alderman Ward 1 - Dalton (Vote for 1)

Precincts Reported: 10 of 10 (100.00%)

		Total	
Times Cast		2,820 / 17,549	16.07%
Candidate	Party	Total	
Dennis Mock (I)		2,350	
Total Votes		2,350	
		Total	
Unresolved Write-In		37	

Special Alderman Ward 2 - Dalton (Vote for 1)

Precincts Reported: 10 of 10 (100.00%)

		Total	
Times Cast		2,820 / 17,549	16.07%
Candidate	Party	Total	
	rarty	Total	
Nicolas "Nicky" Lama		1,656	
Tyler J. Mitchell		509	
Peter Pociask		435	
Total Votes		2,600	
		Total	
Unresolved Write-In		10	

Page: 2 of 4 11/20/2023 2:48:49 PM

Alderman Ward 3 - Dalton (Vote for 1)

Precincts Reported: 10 of 10 (100.00%)

		Total	
Times Cast		2,820 / 17,549	16.07%
Candidate	Party	Total	
Tyree Goodlett (I)		2,327	
Total Votes		2,327	
		Total	
Unresolved Write-In		23	

Muni Board of Education (Johnson) - Dalton (Vote for 1)

Precincts Reported: 10 of 10 (100.00%)

		=	
		Total	
Times Cast		2,820 / 17,549	16.07%
Candidate	Party	Total	
John "Tulley" Johnson (I)		1,237	
Laura Orr		1,104	
Pablo Perez		391	
Total Votes		2,732	
		Total	
Unresolved Write-In		5	

Muni Board of Education (McClurg) - Dalton (Vote for 1)

Precincts Reported: 10 of 10 (100.00%)

		Total	
Times Cast		2,820 / 17,549	16.07%
Candidate	Party	Total	
Jody McClurg (I)		2,312	
Total Votes		2,312	
		Total	
Unresolved Write-In		37	

Muni Board of Education (Sanders) - Dalton (Vote for 1)

Precincts Reported: 10 of 10 (100.00%)

		Total	
Times Cast		2,820 / 17,549	16.07%
Candidate	Party	Total	
Sam Sanders (I)		2,269	
Total Votes		2,269	
		Total	
Unresolved Write-In		51	

Page: 3 of 4 11/20/2023 2:48:49 PM

Homestead Exemption - 65 Yrs or Older - Dalton (Vote for 1)

Precincts Reported: 10 of 10 (100.00%)

		Total	
Times Cast		2,820 / 17,549	16.07%
Candidate	Party	Total	
Yes		2,380	
No		319	
Total Votes		2,699	
		Total	
Unresolved Write-In		0	

Homestead Exemption - 70 Yrs or Older - Dalton (Vote for 1)

Precincts Reported: 10 of 10 (100.00%)

		Total	
Times Cast		2,820 / 17,549	16.07%
Candidate	Party	Total	
Yes		2,319	
No		354	
Total Votes		2,673	
		Total	
Unresolved Write-In		0	

Independent School District Homestead Exemption - 65 Yrs or Older - Dalton (Vote for 1)

Precincts Reported: 10 of 10 (100.00%)

		Total	
Times Cast		2,820 / 17,549	16.07%
Candidate	Party	Total	
Yes		2,224	
No		404	
Total Votes	Total Votes		
		Total	
Unresolved Write-In		0	

Independent School District Homestead Exemption - 70 Yrs or Older - Dalton (Vote for 1)

Precincts Reported: 10 of 10 (100.00%)

		Total	
Times Cast		2,820 / 17,549	16.07%
Candidate	Party	Total	
Yes		2,190	
No		435	
Total Votes		2,625	
		Total	
Unresolved Write-In		0	

Page: 4 of 4 11/20/2023 2:48:49 PM